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Q1. The box can contain no more.

A. No more this box can contain

B. No more could be contained in this
box

C. No more can be contained in this box
D. Nothing can be contained in this box

Answer: (c)
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Q2. It is possible to do this.
A. It is possible to have done this
B. This is possible to be done.

C. It is possible to be done.
D. It can be done.

Answer: (b)
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Q3. We have already done the exercise.

A. Already the exercise has been done by us.
B. The exercise has already been done by us.
C. The exercise had been already done by us.
D. The exercise is already done by us.

Answer: (b)
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Q4. One should not give unsolicited advice.
A. Unsolicited advice is not to be given.

B. Unsolicited advice can't be given.

C. Unsolicited advice may not be given.

D. Unsolicited advice should not be given.

Answer: (d) IM'




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q5. The boys elected Mohan captain.

A. The boys were elected captain by Mohan.
B. Mohan is elected captain by the boys.

C. Mohan was elected captain by the boys.
D. Mohan and the boys elected the captain.

Answer: Option
C
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Q6. The pilot landed the plane safely.

A. The plane had been landed safely by the pilot.
B. The plane was landed safely by the pilot.

C. The plane has been landed safely by the pilot.
D. The plane was to be landed safely by the pilot.

Answer: Option B
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Q7. The old lady touched and petted the cow.
A. The cow petted and touched the old lady.
B. The cow was touehed by the old lady
petting her

C. The cow was touched and petted by the
old lady.

D. The petted cow touched the old lady.

Answer: Option C [E i]
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Q8. The money was stolen by an employee of the
bank.

A. An employee of the bank had stolen the money.
B. An employee of the bank steal the money.

C. An employee of the bank stole the money.

D. The money can be stolen by an employee of the

bank. e
Answer: Option C IMI
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Q9. | expect you to complete this work before sunset.

A. | expect you to be completed this work before sunset.

B. | am expected you to complete this work before sunset.

C. You are expected to complete this work before sunset.

D. You are expected to be completed this work before sunset.

-

Answer: Option C
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Q10. Look They have painted the
door.

A. Look The door's being painted.
B. Look The door had been painted.

C. Look The door has been pai
D. Look The door was painted.

SR X & - \U

Answer: Option C



SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q11. Leo Tolstoy wrote "War and Peace’.

A. ‘War and Peace’ was written by Leo Tolstoy.
B. 'War and Peace’ is written by Leo Tolstoy.

C. ‘War and Peace’ will be written by Leo
Tolstoy.

D. ‘War and Peace' was being written by Leo

Tolstoy.
y Answer: (a) EJE i
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Q12. He could have done that work.

A. That work could had been done by him.
B. That work could have been done.

C. That work could have been done by him.
D. That work could be done by him.

Answer: (c) IMI
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Q13. Mohan gave the beggar an old shirt.

A. An old shirt was given to Mohan by the
beggar.

B. An old shirt was given to the beggar by
Mohan.

C. The beggar was gave an old shirt by Mohan.

D. An old shirt was gave to the beggar by Mohan.

Answer: (b)
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Q14. This box contains twelve coins.

A. Twelve coins are contained by this box.

B. Twelve coins are contained in this box.

C. Twelve coins have been contained by this
box.

D. Twelve coins are in this box.

Answer: (b) IM'
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Q15. You are to write it in ink.
A. It is to be written in Iink.

B. It is written In Ink by you.
C. It has to be written in ink.
D. It should be written in ink.

Answer: (a)
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Q16. Were the clothes dried in the lawn by
mother?

A. Did the mother dry the clothes Iin the lawn?

B. Did the mother dried the clothes in the lawn?
C. Did his mother dry the clothes in the lawn?

D. Had the mother dried the clothes in the lawn?

i)

Answer: (a)
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Q17. The doctor bandaged the arm of the Injured man.

A. The arm of the injured man was bandaged by the doctor.
B. The injured man bandaged his arm.

C. The injured man made the doctor injure his arm.

D. The doctor injured and bandaged the arm of a man

Answer: (a) IMI




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q18. | shall write a letter.
A. A letter is written by me.

B. A letter will be written by
me.

C. A letter has written to me.
D. A letter has been written

by me.

Answer: (b)
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Q19. It is being read by us.

A. We are reading It.

B. "It will be read by us.
C. We can read it.

D. We have to read it.

Answer: (a)
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Q20. The convict was found guilty by the jury.
A. The jury found that the convict was guilty.
B. The jury convicted him.

C. The jury found the convict guilty.

D. The jury finds the convict guilty.

Answer: (c) |M|
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HOME WORK

We waste much time on trifles.

A. Much time was wasted on trifles.

B. Much time will be wasted on trifles.’
C. Much time is wasted by us on trifle’s.
D. Much time is wasted on trifles.
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HOME WORK ANSWER

| have just reading an
interesting novel.

A. been

B. completely

C. finished

D. start
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